# Solution of Differential Equation from the Transform Technique 

S. Vishwa Prasad Rao ${ }^{1}$, P.S. Rama Chandra Rao ${ }^{2}$<br>and C. Prabhakara Rao ${ }^{3}$<br>${ }^{1}$ Department of Mathematics, New Science Post-Graduate College, Hunter Road, Hanamkonda, Warangal, Andhra Pradesh, India<br>E-mail: vishwa72@yahoo.com<br>${ }^{2}$ Department of Mathematics, Kakatiya Institute of Technology and Science, Hanamkonda, Warangal, Andhra Pradesh, India<br>Email:patibanda20@yahoo.co.in<br>${ }^{3}$ Department of Mathematics, Vasavi Engineering College, Hyderabad, Andhra Pradesh, India


#### Abstract

In this article differential transform method is consider to solve second order differential equations. The analytical and numerical results of the equations have been obtained in terms of convergent series with easily comparable. Three examples are given to illustrate the efficiency of the present method. Differential transform technique may be considered as alternative and efficient for finding the approximate solutions of the boundary values problems.


Keywords: Differential transform method, Second order differential equation, Laplace transform.

Mathematical subject classification (2010): 65Mxx, 65M99.

## Introduction

The Differential transform method has been successfully used by Zhou[6] to solve a linear and nonlinear initial value problems in electric circuit analysis. This method constructs an analytical solution in the form of a polynomial.. The differential transform method is an alterative method for finding the analytic solution of the differential equations. In this paper, we apply the differential transform method which is based on Taylor expansion to construct analytical approximate solutions of the initial value problem.

This paper is organized as follows: In Section 2, the differential transformation method is described. In Section 3, the method is implemented to three examples, and conclusion is given in Section 4.

## Differential transformation method

Differential transformation of function $y(x)$ is defined as follows

$$
\begin{equation*}
Y(k)=\frac{1}{k!}\left[\frac{d^{k} y(x)}{d x^{k}}\right]_{x=0} \tag{1}
\end{equation*}
$$

In (1), $y(x)$ is the original function and $Y(k)$ is the transformed function. Differential inverse transform of $Y(k)$ is defined as follows

$$
\begin{equation*}
y(x)=\sum_{k=0}^{\infty} x^{k} Y(k) \tag{2}
\end{equation*}
$$

In fact, from (1) and (2), we obtain

$$
\begin{equation*}
y(x)=\sum_{k=0}^{\infty} \frac{x^{k}}{k!}\left[\frac{d^{k} y(x)}{d x^{k}}\right] \tag{3}
\end{equation*}
$$

Eq. (3) implies that the concept of differential transformation is derived from the Taylor series expansion. From the definitions (1) and (2), it is easy to obtain the following mathematical operations:

1. If $f(x)=g(x) \pm h(x)$ then $F(k)=G(k) \pm H(k)$.
2. If $f(x)=c g(x)$ then $F(k)=c G(k)$, where ' $c$ ' is constant.
3. If $f(x)=e^{x}$ then $F(k)=\frac{1}{k!}$
4. If $f(x)=\frac{d^{n} g(x)}{d x^{n}}$ then $F(k)=\frac{(k+n)!}{k!} G(k+n)$.
5. If $f(x)=g(x) . h(x)$ then $F(k)=\sum_{r=0}^{\infty} G(k) F(k-r)$.
6. If $f(x)=x^{n}$ then $F(k)=\delta(k-n)$, where $\delta$ the Kronecker delta.

## Numerical Examples

To demonstrate the method introduced in this study, three examples are solved here.

## Example 1

Consider the equation

$$
\begin{equation*}
y^{11}+5 y^{1}+6 y=5 e^{t} \tag{4}
\end{equation*}
$$

the initial conditions is

$$
\begin{equation*}
y(0)=2 \text { and } y^{1}(0)=1 \tag{5}
\end{equation*}
$$

Taking the differential transform both sides of (4), we obtain

$$
\begin{equation*}
(k+2)(k+1) Y(k+2)+(k+1) Y(k+1)+6 Y(k)=5 \frac{1}{k!} \tag{6}
\end{equation*}
$$

where $Y(k)$ is the differential transform.
From the initial condition given by Eq.(5) we have

$$
\begin{equation*}
Y(0)=2 \text { and } Y(1)=1 \tag{7}
\end{equation*}
$$

Taking Eq.(7) in Eq.(6) and by recursive method, we have

$$
Y(2)=-6 Y(3)=\frac{59}{6} Y(4)=\frac{-109}{12} Y(5)=\frac{247}{40}
$$

The form of the solution can be written as

$$
\begin{aligned}
& y(x)=\sum_{k=0}^{\infty} x^{k} Y(k)=2+x-6 x^{2}+\frac{59}{6} x^{3}-\frac{109}{12} x^{4}+\frac{247}{40} x^{5}+\ldots \ldots . . \\
& y(x)=\frac{5}{12} e^{x}+\frac{16}{3} e^{-2 x}-\frac{15}{4} e^{-3 x},
\end{aligned}
$$

which is exact solution of the equation (4)
Now applying laplace transform to the equation (4), we get the same solution.

## Example 2

Consider the equation

$$
\begin{equation*}
y^{11}-2 y^{1}+2 y=0 \tag{8}
\end{equation*}
$$

the initial conditions is

$$
\begin{equation*}
y(0)=1 \text { and } y^{1}(0)=1 \tag{9}
\end{equation*}
$$

Taking the differential transform both sides of (8), we obtain

$$
\begin{equation*}
(k+2)(k+1) Y(k+2)-2(k+1) Y(k+1)+2 Y(k)=0 \tag{10}
\end{equation*}
$$

where $Y(k)$ is the differential transform.
From the initial condition given by Eq.(9) we have

$$
\begin{equation*}
Y(0)=1 \text { and } Y(1)=1 \tag{11}
\end{equation*}
$$

Taking Eq.(11) in Eq.(10) and by recursive method, we have

$$
Y(2)=0 Y(3)=\frac{-1}{3} Y(4)=\frac{-1}{6} Y(5)=\frac{-1}{30}
$$

The form of the solution can be written as

$$
y(x)=\sum_{k=0}^{\infty} x^{k} Y(k)=1+x-\frac{1}{2} x^{3}-\frac{1}{6} x^{4}-\frac{1}{30} x^{5}+\ldots \ldots . .
$$

$y(x)=e^{x} \cos x$, which is exact solution of the equation (8)
Now applying laplace transform to the equation (8) we get the same solution.

## Example 3

Consider the equation

$$
\begin{equation*}
y^{11}+y^{1}=x^{2}+2 x \tag{12}
\end{equation*}
$$

the initial conditions is

$$
\begin{equation*}
y(0)=4 \text { and } y^{1}(1)=-2 \tag{13}
\end{equation*}
$$

Taking the differential transform both sides of (12), we obtain

$$
\begin{equation*}
(k+2)(k+1) Y(k+2)+(k+1) Y(k+1)=\delta(k-2)+2 \delta(k-1) \tag{14}
\end{equation*}
$$

where $Y(k)$ is the differential transform.
From the initial condition given by Eq.(13) we have

$$
\begin{equation*}
Y(0)=4 \text { and } Y(1)=-2 \tag{15}
\end{equation*}
$$

Taking Eq.(15) in Eq.(14) and by recursive method, we have

$$
Y(2)=1 \quad Y(3)=0 \quad Y(4)=\frac{1}{12} \quad Y(5)=\frac{-1}{60}
$$

The form of the solution can be written as

$$
\begin{aligned}
& y(x)=\sum_{k=0}^{\infty} x^{k} Y(k)=4-2 x+x^{2}+\frac{1}{12} x^{4}-\frac{1}{60} x^{5}+\ldots \ldots . . . . . . . . . . \\
& y(x)=2+2 e^{-x}+\frac{1}{3} x^{3}, \text { which is exact solution of the equation (12) }
\end{aligned}
$$

Now applying laplace transform to the equation (12), we get the same solution.

## Conclusion

In this paper, we have shown that the differential transform method can be used successfully for finding the solution of second order differential equations and we compare the solution with other alternate method. It may be concluded that this technique is very powerful and efficient in finding solutions.

## References

[1] Abdel-Halim Hassan I. H., Vedat Suat Ertrk, Applying differential transformation method to the one-dimensional planar bratu problem, Int. J. Contemp. math. Sciences, 2(30) (2007) 1493-1504.
[2] Fatma Ayaz. Applications of differential transform method to differentialalgebraic equations. Applied Mathematics and Computation, 152(2004): 649657.
[3] Jang, M.J., Chen, C.L., Liu, Y.C., On solving the initial value problem using the differential transformation method, Appl. Math. Comput., 115 (2000), 145160..
[4] Rama Chandra Rao, P. S. Special Multistep Methods Based on Numerical Differentiation for Solving the Initial Value Problem, Applied Mathematics and Computation Elsvier, 181, p.500-510, 2006.
[5] Vishwa Prasad Rao. S and Rama Chandra Rao. P. S. Transform Technique For The Solution Of A Class Of Differential Equation, International Journal Of Applied Mathematical Analysis and Applications. Vol 3,No.2,pp. 161-166
[6] Zhou. J. K. Differential transformation and its application for electrical circuits. Huarjung University Press, Wu-uhahn, China,(in Chinese). 1986.

